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Abstract

Compare to the conventional magic triangle, the subtractive magic
triangle is a new concept. Due to the interest in the subject, I study
constructions of subtractive magic triangles of order n, the optimal
maximum and minimum of the magic difference d. We then combine
this with the conventional one to study the perfect magic triangle,
which is both conventional and subtractive. Besides, the study also
includes the configuration of tetrahedrons and polygons. When do-
ing the research, I first find patterns and give conjectures. We then
prove the conjectures. Finally think about whether it can suit other
parts of the study. From the study I get the optimal maximum and
minimum of the magic difference d for subtractive magic triangles of
order n: when nisevenand n > 6, n(n+2)/4 < d < 3n?/4 —2;
when nisodd, (n —1)(n+11)/4 < d < 3(n+1)?/4 — 4. The result
can be proved by constructing a subtractive magic triangle whose
magic difference satisfies the maximum or minimum.
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> -
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& TR, TATFIH 3 x n FEEFEIR ST,. FEFERE 5K ST, &
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v1 Fl vz, E3 BTEEE S 0o A 0z, B T TEEG ERVECZ S0, #E— S8 H 2T
i, W/ NBIRHEY, anlE 4 PR, 5% d; Ry E; 1 d (i=1,2,3), =4 di =dp = ds
5F, Bl % —18 ST,.
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[
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U2 €1 €2t Cp—2 U3 |4

L] -
. bn-?.

V2 €1 €2 =ee* Cp2 V3

4. ST, B ﬂ%&%ﬁ@i\%ﬂ?.
THE 31 ¥ 0 > 6 HLA MG, IR n — 28—~
. BT, B R TR ST,

v1=1, ©v,=3n-5, v3=3n-3;
a;=3i+1(i=12,--,n—=3), a,p,=23n—4
bi:3i(i:1,2,---,n—3), bn,2:31’l—7;
¢;=3i—-1(=1,2,-,n-3), c¢y_2=3n—6.

(” +2) w51,



1 @47 3n—8) 3n—4 3n—5
1 36 -+ 3n—-9) 3n—-7 3n-—3
3n—5 (2 5 3n—10) 3n—6 3n—3
A AR &SR 240 T
3 3 3 3
d=(Gn-4)+Cn+1) - (Gn-2)+1) + 25 -2) = 2n* -2,
dzz((3n—7)+§n)—((gn—6)+1)+37”(g—2)=2n2—2,
dy = <(3n—3)+(3n—5)—|—(3n—6)>
3 3 3 3 3
—(Gr=1D+Gn-9+Gn-7))+ (5 -3) =1 -2,

FtLLiE & — (A BENG 2 2 3n? /4 — 2 1Y ST,. HIXE R N EM ST,:

v1=n, v,=3n/2—-1, v3=2n-2;
a;=i(i=1,2,---,n—2);

bh=n—-1, bj=n—-1+4i(i=2,3,---,n/2-1),
bi=n+i(i=n/2,n/241,--,n—=3), byr=2n-1;
c=2n—-1+i(i=1,2,---,n-2).

n (1 2 3 4 5 6 e on=2) %n—l
n n—-1 (n+1 n+2 ---) <§n §n+1 ey 2n—1 2n-2
%n—l 2n 2n+1 2n+2 2n+3 2n+4 2n+5 --- 3n-3) 2n-2
A LRSI BT T
3 n _n n.n _ n(n+2)
h=(Gr-nan) - (GrG-D) 3G -="0
_n n nn+2)
dz_(§+1)§_ i
5 5
ds = ((En ~1)+ (5n —2))
3 n.n _n(n+2)
—((2n—2)—|—(§n—1)>—|—5(§—2)— 1 ,

FFLASE R — MRS 2 n(n + 2) /4 I ST,



HE n =48 1 ST, iEBERZ1%, SHREHEN RN LEAENE
3/4-4%> -2 =10, 1M 9. [& 5 & B4 3n%/4 — 2 I F; & 6 & BhTZ=
Fyn(n+2)/4 B+

1 47 10 14 13 6 1 2 3 4 8

1 36 9 11 5 6 5 7 9 11 10

13 25 8 12 5 8 12 13 14 15 10
[ 5. ST, d = 25. & 6. STe, d = 12.

—1)\2
32 B a > 4 BBEEE, e 20

STy
. 5L, HE N STy

ap=1, ap=5 4a,;=3i(i=3,4,---,n—2);
by=3, by=4, bj=3i—1(G=34n—2);
C1:2, C2:6, ci:3i—2(i:3,4,-~~,n—2).

Sdé%nz—BE"J

31—5 15 (9 12 --- 3n—6) 3n—4
31—5 3 4 (8 11 --- 3n—7) 3n—3
3n—4 2 6 (7 10 --- 3n—8) 3n—3



A LT R A SR BT 240 T

dy = ((3n—4)+(3n—5)+(§n+6)+(§n+3))
- <§n+(§n—3)+5+1> 3”(3—4)
—ZnZ—S,
dy = ((371—3)+(3n—5)+(§n+5)+(§n+2))
. ((gn—1)+(§n—4)+4+3)+37"(g—4)
—an—S,
ds = <(3n—3)—|—(3n—4)+(gn+4)+(gn—|—1)>
. ((gn—2)+(gn—5)+6+2>+3?n(g—4)
32
=5 -3

It DL3E A& — 8 A 22 4% 3n%/4 — 3 1) ST,,. #4TEEE - =% 3n — 3, 3n — 4,
3n — 5 BAEE = BN 3 1B 3n — 6, 3n — 7, 3n — 8 AT, FH IR 4595 (1) JBE Al
#2359 F 3n2 /4 — 6, FTLAIE & — (AT 2 & 3n? /4 — 6 1 ST,. KULEHE, 7T
BRI 2Ry 3n% /4 —9,3n% /4 —12,---, [3(n — 1)2 + 1] /4 1] ST,,.
HIRZ B TR STy:
v1=3n—6, v,=3n—>5 v3=3n—4
a;=3i—-2(i=12,---,n—2);
bj=3i(i=1,2,--,n—3), b, ,=3n-3;
c;=3i—-1(i=12---,n-2).

3n—6 (1 4 -~ 3u—8) 3u—5
3n—6 (3 6 ---) 3n—3 3n—4
3n—-5 (25 --- 3n—-7) 3n—4
LR RSB Z=an T
d1:(3n—6)—(§n—2) 3”(” 1) = Zn 4,
_ 3 3n ,n 3 5
dz = (37’1 4) §n+ > (E 1) Zn 4:,
_ 3 3n ,n 35
ds = (3n —5) (En 1)+7(§ 1)—4n 4,



It LAIE A2 — BT 22 A 3n% /4 — 4 W) ST, #5TEEE - =% 3n — 4, 3n — 5,

3n — 6 Bl IE = A8 3 FIE 3n — 7, 3n — 8, 3n — 9 I, BT KR A G

ZY R 3n? /4 — 7, FTLLE & —E T2 & 3n?/4 — 7 B ST,,. MKULIHIE, 7T

BRI R 3n2 /4 — 10,312 /4 — 13, - -+, 3n%/4 — 3n/2 + 2 B9 ST,,.
FEE TN H ST,

v =3n—-7, v,=3n—6, v3=3n-25;
a;=3i—1(i=12,--,n—=3), a,p,=23n—4
bi=3i—2(i=1,2n—2);
¢;=3i(i=12--,n-3), cy_o=3n—3.

3n—7 <2 5 > 3n—4 3n-—6
3n—7 (1 4 --. 3n—8> 3n—>5
3n—6 (3 6--) 3n—3 3n->5
Al LART R SR BT 2= -
3 3n . n

3
d1:(3n—6)—(§7’l—1)+7(5—1) an_S,
= (Bn-7)~ Gn-2)+ 23 -1)="r -5,
3 3 3
d3=(3n—5)—§n+;(2—1)—Zn2—5,

Bt DLiE & — 1 B 65 75 B 3n2/4 — 5 B9 ST,,. #1EEE =% 3n—5,3n —6,
3n—7 BAHE =N 3 A8 3n — 8, 3n — 9, 3n — 10 331, s KR B
2245 B 3n% /4 — 8, Pt LLiE & — BT 25 2% 3n/4 — 8 1Y ST,,. KA,
ISR A 3n2 /4 — 11,302 /4 — 14, - -+, 3n% /4 —3n/2+ 189 ST,. O

7, 1B 8 47 Rl B STy, ST, WO

52 86 6 1 4 7 7 15 8

51 47 6 3 9 8 7 3 49

639 7 7 25 8 8 2 6 9
d= d=28 d=9

7.5Te,d=7,---,9.

11



8 2511 14 9 9 1 4 7 13 10 10 1 5 7 13 11
81 4 7 13 10 9 3 6 12 15 11 10 3 4 8 14 12
9 3 6 12 15 10 10 2 5 8 14 11 11 2 6 9 15 12
d=19 d=20 d=21
11 2 5 8 14 12 12 1 4 7 10 13 13 1 57 10 14
11 1 4 7 10 13 12 3 6 9 15 14 13 3 4 8 11 15
12 3 6 9 15 13 13 2 5 8 11 14 14 2 6 9 12 15
d=22 d=23 d=24
8.STs,d =19, - -,24.
\ - 3 . -1 11
3. U n > 3 EL B A, (HERER D (n 4 1)? -4z L DD

HIST,.
e, HoL, BRTEMST,:

v1=3n—-5 vy=3n—4, v3=3n-3;
a;=3i—-2(i=12,---,n—2);
bij=3i—-1(i=12,---,n-2);
c;=3i(i=12,--,n-2).

3n—5 (1 4 3n—8) 3n—4
3n—-5 (2 5 -+ 3n—-7 3n-3
3n—4 (3 6 3n—6 3n—-3
A DU A B g 2= 4 T
B 3n—3 n—1, 3 2
di=0Bn—4)+ > (2 )—4(n+1) 4,

3n—5 3n—-3,n-3 _3 ’
s T (2 )=—-(n+1)"—4,

4
)= 2 +1) -4,

dy = ((3n—3) + (3n—5)> -
3n—3 n—1

7 2
BT LLE & — T 2= 4 3(n +1)%/4 — 4 ] ST,

d3=(31’l—4)+
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HIKZ R TR STy:
v =2n—-3, vy =2n—-1, v3=3n-3;
ai=i(i=1,2,---,n—2);
bi=n—-2+i(i=1,2,---,n—2);
c1=2n—-2, ¢=2n—-2+4i(i=23,---,n—2).

2n—-3 (1 2 oo o n=2) 2n-—1

2n—-3 (n—1 n e+ 2n—3) 3n-3

2n—1 2n—2 (2n 2n+1 ---) 3n-—3
A LR B Bz a0 T

dy = ((2n—1)+(2n_3)+(n_2)>_(n;1+n;3> n;l(n;5)

B (n — 1)(n—|—11)

7

<~°m— #On =)+ n ) - (M2 2T A
—1)(n+11)
= - ,
—1n-1 —1 11
d3:(3n—3)+”2 (”2 )= )in+ )
FrbliE @ — (B 2R (n —1)(n +11) /4 B ST, 0

9 ZEMTZE R 3(n +1)%/4 — A HUGI T B 10 2REMZER (n—1)(n+
11) /4 H9f5IF.

415 315

126 126

53 6 54 6
9.ST;,d = 8. 10. STy, d = 7.

34 S > 3 LRHME, BLE n2 4 | <d < J(n 412460
ST,.
. B, R T HEIY STy:
v1=3n—-5, v,=3n—4, v3=3n-23
a;=3—-2(i=12,---,n-2);
bi=3i—1(i=12,--,n-2);
¢ =3i(i=1,2--,n—2).
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31—5 (1 4 31—8) 3n-—4
315 (2 5 .- 3n—7) 3n—3
31—4 (3 6 31-6) 3n—3
A AT SRS RO BE g 2= a0 T
i _ 3n—3 n—1 _§ 2
di=@n—4)+ T () = S+ 17 -4,

3n—5 3n-3,n—3_ 3 )
5 + 2(2)—(n+1) 4,

4
) =S+ 17 4,

At LIS 2 — (BT 2 & 3(n +1)2/4 — 4 ) ST,,. #5TEEE £ =% 3n — 3,
3n—4,3n—5 B iE =8N 3 098 3n —6,3n — 7, 3n — 8 I, 5T EL
ST 2 R 3(n +1)2/4 -7, FTLLER — B ZER 3(n +1)2/4 -7
[ ST,. RILERME, TS EIENTZE R 3(n+1)2/4-10,3(n+1)2/4-13, - - -,
3n%/4 +5/4 ) ST,.

HIRER T HERIST,:

dy = ((3n—3) + (3n—5)) -

d3:(37’l—4)—|—

v =3n—6, vy,=3n—-5, uv3=23n—4
a;=3i(i=12,--,n-3), a,_,=3n-3;
bij=3i—2(i=12---,n-2);
c;=3—-1(=12--,n-2).

3n—6 (3 6 ---) 3n—3 3n-5
3n—6 (1 4 --- 3n—8) 3n—4
3n—5 (2 5 3n—7) 3n—4
A LT RS R BT 240 T
o _ 3n—3 n—1 o E 2
dp=3n—-5)+ 5 ( > )—4(n+1) 5,

3In—7 3n—-3 n-—-3 3

dy = ((3n—4) + (31 -6)) - T () = {(n+ 1) =5,

3n—3 n—1, 3 2

(=) =n+1)7 =5
AT LL3E /& — E AT 22 % 3(n + 1)2/4 — 5 B9 ST, #5TEEE L =8 3n — 4,
3n—5,3n — 6 BLLLIE = (HEUN 3 B 3n — 7, 3n — 8, 3n — 9 M, FHAEL
BB IR 3(n +1)2/4 — 8, FrLUE & —EMEMT 22 % 3(n + 1)2/4 -8

d3:(37’l—5)—|‘
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F ST,. R AEE, RIS RN 3(n+1)2/4 —11,3(n+1)2/4— 14, - - -,
3n2/4 +1/4 ] ST,.
BER TN ST,

m=3n—-7, v,=3n—6, v3=3n-2>5;
a;=3i—1(i=12,---,n—3), a,,=3n—14
bj=3i(i=1,2,---,n—3), b,_,=3n-3;
c;=3—-2(i=12--,n-2).

3n—-7 25 ---) 3n—4 3n—-6
3n—-7 3 6 ---) 3n—-3 3n-5
3n—6 (1 4 3n—8) 3n—5
A LT R A SR BEfT 240 T
o - 3n—3 n—1 _E 2
di=0B3n—6)+ 5 ( > )—4(n+1) 6,

3In—9 3n—-3 n-3 3

d2:<(3n—5)+(3n—7)>— st T () = 1) =6,

3n—3 n—1 3

(5 = 172 6,

It LL3E /& — AT 22 % 3(n + 1)2/4 — 6 1Y ST, #5TEEE L =% 3n — 5,
3n—6,3n —7 BdLiE =(EEUN 3 I8 3n — 8, 3n — 9, 3n — 10 2L, 5HE %
BT 2 R 3(n +1)2/4 -9, FTLLE R — B ZE R 3(n +1)2/4 -9
F ST,. R AaE, ISR NG 2= R 3(n+1)2/4 —12,3(n+1)2/4—15,- - -,
3n%/4+9/4 ) ST,,. O

11, & 12 95 & ST, STs HIFI T

d3:(37’l—6)—|‘

11.STs,d = 7,8.
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6 3 9 12 7 7 1 4 10 8 8 2511 9
6 1 4 10 8 72511 9 8 3 6 12 10
7 2 5 11 8 8 3 6 12 9 914 7 10
d=19 d=20 d=21
9 3 6 12 10 101 4 7 11
9 1 4 7 11 10 2 5 8 12
10 2 5 8 11 11 3 6 9 12
d=22 d=23

12.STs,d =19, - - -, 23.
EH 3.5. ST, f71E4 HMEH n > 3.
. n =1, RE A%, MER ARG, & n =2, A —HEHEHE, W
13, T =@ BT =AM, Tl T35 ST, 718, Hln > 3] .
B on > 30, WREEH S —1 ST, B9, SaBHT T3 n > 3, {1
ST, fF1E] . Frfefy ST, WEH 1A% REH 3.1 & 3.3. O

N = =
W W N

13.
e 14 %—10 STy, FHLLTS == UEEE g .

2 47 5
6=(6+3)—(2+1) 5896

6=(9+8)—(6+5)
14. STy, d = 6.
A =AM 3 6x3=3+5+6+7+8+9) —(1+2+2+4+5+
6). KAMMEN ST, &M, -, 9415, 1, -, 9 BFM A E R, ALl
Hig T A

6x3=[(1+24 - +9)+2+5+6] —2(142+2+4+5+6),
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HA1 2,56 ATEE FAUEL 14+ 2+ 2+ 4+ 5+ 6 BT RERIA.
s EMUEHEE R ST, 2128, 5% 3d Fi = A FTE B2 M w5
At BSORD b b TEE T = SO

34 = [1 F24 -+ (Bn— 3)] — 2 PR + TEES b = R (%)
EHL 3.6, B n > 6 HAMBEE "(n: 2) <d< an -2

. ¢ (x) 1550, 2158 d i EFY ZEMETERE E =BOmE 88K, R
ANEE T EE/D, BIAE 1 BHIGRYEAE B AR BL. SCTERS ERYBCE N E O W R 2 H
F—fETE, BT LR B 2 Al A = fE8AS A —IK, B = (B80T MK,
HEREEWER TTHR EED . BICATE H:

3d < [14+2+ -+ (31— 3)

3
—2[1—|—2—|—---+(§n—3)+(x1+x2+x3)} + (v1 + 02 + v3)

9
= (A_an —3) —2(x1 +x2+ x3) + (v1 + v2 + v3).

He, RAREY R A = HESEERE IR, TUE = EEREE, 5
X1, X2, X3, MBS {x1, x2, x3 }, {v1, vo, v3} A i HITHEAME (1 =0, 1,2, 3).
K%—‘gﬁlr ;é'\xl == Ul, "'/xi = vi/

9, 3

i
3d§(1n 3)—2(ka+ Y. xk>+(vl—{—vz+03)
k=1 k=i+1

9 5 3 i 3
:(Zn —3) =2 Y =Y v+ ). v

k=i+1 k=1 k=i+1
9 3 3 i 3
§(1n2—3)—2 Y. (En_k+1)_2k+ Y. (Bn—6+k)
k=i+1 k=1 k=i+1
9, 9 . 3,
i S )

E& (i—3/2)> > 1/4, Ll 3d < 9n?/4—-9/2—2/4, L2 d <
3n%/4 —5/3, Hf 3n? /4 2P, Tl d < 3n?/4 — 2.

BATH R EIEFEH TR, BEEE—E ST, HEMWZEd < n(n+
2)/4—1. HRE—8 BEREFn lE ay > a0 > - > ay, Bl a; —
Ai1q4ns > (n—2)/2% 2 <i<n/2 ¥R FrlA
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d= (a1 —an) + (a2 — ar_14ny2) + (a3 — a3_140y2) + -+ (an/2 = 0y/2-14n2)

n—2 n—2
2 (T)I

& ST, THE 3n —3 HEE E,, WBHHKE ) = 3n -3, T l&
N al, > 3n/2 —1; 8% ST, FEE 1 1982 E, W&/ a)) =
Fﬁuzrj:%& al <3n/2-1. FﬁuﬁtWﬁéﬂtﬁxﬂﬁ]ﬁiﬁtaﬁ%ﬁ%ELﬁﬁA
a, =a) =3n/2—1. Fik, #TE =SS T 5958 E,, E; #HAZHITHES
S, LR PEREANTE E, 1 Es HBABOEL, 3528808 n/2 (MK 3n/2 — 1,
n/2 ff/INIA 3n /2 — 1. (€58 (HE £ B BT 2= 1] LU 2],

> a1 — ay +

d> [(2n—1)+(2n—2)+(2n—3)+---+§n}
- [(gn—Z)—|—(§n—3)—|—~-—|—n—|—(n—1)] = ”(":2),
Md<nn+2)/4—10BETE. L EELEd>n(n+2)/4 ]
FREH 3.1 #3940 bty B F A S asfE B A

~D(n+11) _ 3
1 <d<=(n+1)?2-4

%Eﬁ }Eﬁgﬁi/—\Efi36 EU%':F' 1‘ E/J T’J‘fﬁ X1, X2, X3, 01, U2, 03 H TU\T%‘@J

SH 37, E o> 3 B

S

3d < [1+2+---+(3n—3)}

3
—2{1+2+---+[E(Tl—l)—3}+(X1+X2—|—X3)}+("01+"02+7Jg)
9 2 9
(4 +§ ——) =2 Z xk—ka—i- Z Ok
k= 1+1 k=1 k=i+1
9 2 9 i 3
< (g +on—7) -2 2 [ (n=1)—k+1] - Y k+ ) (GBn—6+k)
k=i+1 k=1 k=i+1
9, 9 €9 . 3,
=" tano g 2(i 4)
El ks (i—3/4)2 > 1/16, Ll 3d < 9n?/4+9n/2 —69/8 — 1/8, thik
IE'L: 2
3, 3 35 3n+1) 1
< Z — — —
ds gt on—p == Sy
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HA3n2/4 +3n/2 BHEHEIN1/4, Tl d <3(n+1)%/4 —4.
R TREERTR, ZERES 3n—3 18, BEE—E0n @l o >
ay > - > g, = 3n-3 2 < i< (n41)/2, a8 —a4-1)0 2
(n—1)/2 ¥JRAZ, I,
d= (3n—3)+ (a2 — .y (n—1)/2) + (83 — a3 (n—1)/2) +

+ (A(ns1)/2 = A(ns1) /24(n—1)/2)
n—1n-1 n—1)(n+11

HE B 3.3 f3n Lty B A A B R

4 E%Eﬁﬁ ﬁﬁ/

T 4.1, PT, f71E3# HMERH n > 5.

el & PTn FIBEMT AN % D, BT % d, W€ E8 0 n A8, P52
fEFE M. 2 L; 3% E; RRIVBHIES, S; R E R/INEWES, [ £
E; B REWIAN, s; ] E; B/NEUIAT (= 1,2,3), & n H#AE, Al l ys
(n+1)/2 EZHEIF, s; & (n — 1) /2 (AEHIH; 5 n AIEEL B L 2 n/2 (A8
%ﬁﬁ’ﬁﬂ, S; E=n/2 {{EEvGREI EE%%EJ%H, D=1+4+s1 =Il+s =1I3+s3,
d:ll—Sl 212—52 213—53,“_7,?%7%%%,11 212213,81 = Sp — S3.
Hon=23sm—ME, H s = sx = s3, (B—EHECARERIFF HHRN =15,
FI BRI PTs.
Hon=4, W% s R EBHOH, HEE S, S (,j=1,2,3,i#j) B
EFEFRE, AL S;, S; A EREIRVEL, T &, FrlL S;, S; A R RRIEG [FH,
B L, L W ERRANE. I AE L =943, =8+4,13=7+57
h=9+4,1,=8+5,13=7+6 MEAAE, FHMEE S THEHE L 6, X
A% S;, Sj IR A HFINVE, Frll—ef — S; B 6, T)E. FILAFE PTy.
LA ERT1E T35 PT, /7175, Bl n > 51 . BN, & n > 5 B, (R A E]
—{# PT, W@ TIE, ST T n > 5 A PT, /77 . PT, BEREH
g (I
B n =1 (mod4), | ZAEUHEIH, s ZAHEUEEHIA:
v1=3n—-5, v,=3n—4, v3=3n-23
a;=3i(i=13,--+), a;=3i—-2(i=2,4,---);
bj=3i—1(i=12,---);
c;=3—-2(1=13,---), ¢=3i(i=24,---).
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3n—5 (3 49 ---) 3n—4
31—5 (2 58 ---) 3n—3
7

4
5
3n—4 (1 6 ) 3n—3
A AT SR A3 R BE T AN D; BT ZE d, 20T

D1:3<(n—1)(n—2)> (") (Bn—4)+ (Bn—5) = on’ 4+ in—3,

2 2 2" T2
D2:3((”_1)2(”_2)) —(n—2)~|—(3n—3)+(3n—5):§n2+%n—3,

D3=3<(”_1)(”_2)) —2(”7_1)4—(311—3)—{—(371—4):§n2+1n—3,

2 2 2
In—-3 n-—1 3, 3 13
dl—(3n—4)+ 5 ( 5 )—Zn +§Tl—z,

3In—-5 3n—-3 n-3
dy = ((3n—3) + (31— 5)) — ()
3n—3(n—1) 3 2+3 13

2 A S
Fir LLE & —{E AT N By 3n/22 +n/2 — 3, JBHTZE A 3n2/4 4+ 3n/2 — 13/4
#) PT,,.
B n =2 (mod4), | =& EUREAI, s &7 BUEE A

13
4/

—§n2+§n_
4 2

d3:(3n—4)—|—

v1=3n-5 v,=3n—-4, v3=3n-23;
=2, ap=6 a;=3i—2(i=3,5"--), a;=3i(i=4,6,---);
bi=3, by=4, bj=3i—1(i=23,4,---);
c=1 =5 ¢=3(i=35"--), ¢=3i—2(i=46,-).

3n—5 2 6 (7 12 13 ---) 3n—4
3n—5 3 4 (8 11 14 ---) 3n—3
3n—4 15 (9 10 15 ---) 3n—3
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AT DA B 18 14 JEE e ] B JRE Al 2 QDT

D1:3<”+1 4)) +(3n—4)+ (3n—5)+6+2
—§n2+;n—3

D2=3((”+1)2(”_4)) (n—4)+ (3n—3)+ (31 —5) +4+3
—gnz—i—;n—S

D3:3<(”+1)2("_4)> —2("7_4)+(3n—3)+(3n—4)+5+1
_§n2+;n—3

dy = ((3n—4)+(3n—5)—|—(gn+4)+(§n+3))
. ((gn—2)+(gn—3)+6+2>+37n(g—4)+222n2—3,

dy = <(3n—3)+(3n—5)—|—(gn—|—5)+(§n+2)>
- ((%n—1)+(§n—4)+4+3>+37n(g—4):2n2—3,

dy = <(3n—3)+(3n—4)+(§n+6)+(gn+1)>
- (gn+(g 5)+5+1>+3271(g—4)—2:?1n2—3,

3n—5 2 6 (7 12 13 ---) 3n—10 3n—6 3n—4
3n—5 3 4 (8 11 14 ---) 3n—9 3n—8 3n—3
3n—4 15 (9 10 15 ---) 3n—11 3n—7 3n—3

B DLiE 2 — 1 T N A 3n2 /2 +n/2 — 3, G725 3n% /4 — 3 ) PT,.
& n =3 (mod4), | A BEUFEEIAN, s & A EURZROFI:

v =3n—-5 ©v,=3n—-4, v3=3n-23

a1:2, a2:6, ai:3i—2(i:3,5,---),
a;=23i(i=4,6,---), a,3=3n—-10, a, ,=3n—6;
bp=3, by=4, bj=3i—1(i=34,---),
b,_3=3n-9, b,_»=3n-28;

C1:1, C2:5, Ci:3i(i:3,5,~--),
c;=3i—2(i=4,6,---), ¢,3=3n—-11, ¢, »=3n-7.

21



A LU R AR B BEAT AN B BE AT 22 40 T

D, :3<(n—1)(n—6)) _2(11—5)

2 2
+(3n—4)+(3n—5)+(3n—6)+(3n—10)+6+2:gn2+%n—3,
n—1)(n—6
D2:3<( )2( )>—(n—6)
-|-(3n—3)—I—(3n—5)+(3n—8)+(3n—9)+4+3=;—)nz-l—%n—?),
n—1)(n—-6 n—7
O
1
—|—(3n—3)+(3n—4)—|—(3n—7)+(3n—11)+5+1:gn2+§n—3,
3n+5 3n+3
dr = ((3n—4) + (3n—10) + 222+ T2
3n —19 3n—3,n—7
(T2 e+ + T2 ()
2 2
—§n2+§n_g
4 2 4’
3n+7 3n+1
d = ((3n—3)+ (3n—5) + (3n — 8) + (3n —9) + 2T 4 F 0
3n—-5 3n-11 3n-17 3n—3 n—-11
— 4
(2+ T ++3)+2(2)
—%nz_i_%n_g
4 2 4’
dy = ((3n—4)+(3n—7)+(3n—11)+3n2+9+3n2_1>
3n—13 3n-—-15 In—-3 n-9
(Tt H5 (=)
—§n2+§n_E
4 2 4’

Frlig 2 —E BT A 3n2/2 +n/2 — 3, EHTZE B 3n2/4 + 3n/2 —
13/4 #J PT,,.
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& n = 0(mod4), | ZEEEBHIM, s ZIHBEBAIA:

vy =3n—-5 v,=3n—-4, v3=3n-23;
a;=3i(i=13,--+), a;=3i—-2(i=24,--+),
a,3=3n—10, a, »=3n—6;
bj=3i—1(i=12,---), b, 3=3n-9, b, ,=3n-38;
c;=3—-2(i=13,--), ¢=3i(i=24,---),
chn3=3n—-11, ¢, »=3n—-7.

3n—5 (3 49 ---) 3n—10 3n—6 3n—4
31—5 (2 58 ---) 3n1—-9 3n—8 3n—3
3n—4 (1 6 7 ) 3n—11 3n—7 3n—3

A LU RS B BE TR L BE AT 2240 T

D, :3<(n—3)2(n—4)>
n—4

_2(

:gnz-l—%n—?),
D2:3((n—3)2(n—4))
—(n—4)+(Bn—-3)+Bn—-5)+Bn—8)+ (3n—9)
3 >

1
—En +§n—3,

D3:3((n—3)2(n—4))
n—4

)+ (B3n—4)+ (3n—5)+ (3n—6) + (3n — 10)

— 2

3, 1
—57’1 +§n—3,

)+ (Bn—3)+(Bn—4)+Bn—7)+ (3n —11)
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dy = <(3n—4) +(3n—5)+ (3n—6)+ (3n — 10))

— ((gn—2)+(§n—3)+(§n—8)+(§n—9))+3—n(g—4)

2 2 2 2 2
_ 3 2
= Zi’l 3,
dy = <(3n—3)+(3n—5)+(3n—8)+(3n—9))
3 3 3 3 3
- ((En—1)+(§n—4)+ (En—7)—i—(§n—10)> +?n(g—4)
_ 3 2
= Zf’l 3,
dy = ((3n—3) +(Bn—4)+ (Bn-7)+ (3n— 11))
3 3 3 3 3
_ 3 2
= Zn 3,
FIT LASE A& — AT AN B 3n2/2 +n/2 — 3, BT 225 3n% /4 — 3 1Y PT,.

O

3 5 3 1 v =
EFH 4.2. 5”2 —5n +3<D< Enz + 5 3 FefE LN A

. B D fER, BRI =AM EEZ M FTER E =80 %
i 3D. W&, 3D = [1+24 -+ + (3n — 3)] + THEL EAYEL, Fth

~1)(Bn—2) 1
p= D=2 1 s b,

fem

32 —5n+2 1 3, 1
<2 TP Te 2 _ _ —5| =2 —n—
D< : +3[(3n 3) + (31— 4) + (31 - 5)| Sn? 4 Sn =3,

2 _

p> M oont2 25n+2+%(1+2+3):§n2—§n+3.

2 2

S 41 B413n2/2 +n/2 -3 A/ bR B A 3n2/2 —
5n/2 + 3 1 PT, BIEREFIEWT:
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& n = 0(mod4), | ZEEEBHIM, s ZIHBEBAIA:

v1=1 ©v,=2, v3=3;

a1 =5 a=9, a;=3i+3(i=35--), a,=3i+1(i=4,6,---);
by=6, bp=7, b=3i+2(i=3,4,---);

c1=4, =8 ¢=3i+1(i=35,-), ¢=3i+3(i=4,6---).

1509 2
167 (11 14 17 ---) 3
2 48 (10 15 16 ---) 3

A LU RS B BE TR EL BE AT 22 40 T

D1:3(n+1 ) +9+5+2+1—§n2—§n—|—3
D, = <"+1 ) —|—7—|—6—|—3—|—1—gn2—gn+3,
D; =3 <"+1 ) +8+4+3+2—§n2—gn+3,
d1:<(§n+7)+(gn+6) (g +1)+§n>
—(9+5+2+1)+3?”(g—4) Zn2—3,
dz=((§n+8)+(%n+5)+(§ +2)+(§n—1)>
—(7+6+3+1)+37n(g—4) Zn2—3,
dsz((gn+9)+(gn+4)+(§n+3)+(gn—2)>
—(8+4+3+2)+ 3?”(%—4)_%12—3,

Fir LL3E & — (B AT Fl A 3n2 /2 — 5n/2 + 3, M7 2 3n2 /4 — 3 ] PT,,.

5 0 R EE i DU THI B

& T HEZIR, M 6 x n FEEHFEIR STe,. FEFERY R —FI1CE STe, B —
#i&, LU Ey, Ey, - - -, Eg 3 RIS RAEPRRYSE —, =, - -, 755 Pl vm THARG _E A
BHIER—F R AL. LTERE VB 01 < vy < vz < vy, By WITEEE S 01
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5FD 0y, E2 E’J]E'Eﬁ% 0 5FD 03, E3 E/‘:]]E\'E}Z% 01 ﬂ:ﬂ 04, E4 E/‘jl@i\ﬁz% (%) 74]:]] 03, E5
(ITERE 25 vy 1 vy, Eg BITREG Y vz vy, BT THES EROBLZ AL, #6B—7)
B 22T AT, (R /INEI KHED, IniE 15, % 6, /R E M6 =1,2,---,6), &

61 =6y = - = 66 I, BIFERH & —1E STey,.
v U1 @ ap
@ cibs v1 b by
a « b

’ U1 €1

Cn-2
V4 (%] dl dz
o2 fo2, Uy €1 €
a2 e T fi bea v i fo

V2

. BT, Z R TR STey:

di dy ccc dya

V3

[& 15. ST, WIE B & HEE R R,

X e 3 .3
EH 5.1 H n > 4 HAEEET, T2 Enz —4 8 an — 3 [ STey.

v =1,

vy =2,

03261’1—9,
a;=6i+3(i=1,2,---,n—3),

bi=6i—2(i=12--,n-2);

ci=6i(i=12-n
di=6i—1(Gi=12--n-3),

—3), ¢y =6n-13;
d,_» =6n—12;

e;=6i+1(i=1,2,---,n—2);

f1=3,

=~ O

NN R ==
P N N e
ST

N

6n—9 3

15
10
12
11
13
(8

fi=6i—4(i=23,-,n-2).

) en—10 2

16 cee) 6n—9
) 6n—13 6n—8
oy 6n—12 6n—9
19 ) 6n—8
14 ce-)  6n—38
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U4 — 6n —8§;
a,_» = 6n—10;

bn72

€n—2

fn—z

(%)
03
04
U3
(&
U4

6xn



CIRYN g RS i) =y (1
51 = ((6n—1o) +(3n+3)+ (3n—3)> - <(3n—9) +2+1)

+3n(g—3) :gn2—4,

5y = <(6n—9)+(3n—2)) - <(3n—8)+1>
+3n(g—2) :gnz—él,

55 = ((6n—8)+(6n—13)+3n) - ((3n—6)+(3n—1z)+1)
+3n(g—3) :gn2—4,

5y = <(6n—9) + (61 —12) + (3n —1)) - ((3n—7) + (31— 13) +2)
+3n(g—3) zgnz—él,

55 = <(6n—8) + (3n+1)) - ((3n—5) +2>
+3n(g—2) :§n2—4,

56 = <(6n—8)+(6n—9)+(3n+2)> - ((3n—4)+(3n—10)+3)

n _3 2
+37’l(§—3) = in 4:,

It LASE A& — AT 25 B 3n2 /2 — 4 1) STe,,. HIX%E B T STe,,:
v1=3n—-5, v,=3n—4, v3=3n—-3, v4=23n-—2;

a1=1, ap=5 a;=3i—2(i=3,4,---,n—2);

bh=3, bp=4, b;=3i—1(i=3,4,--,n-2);
¢;=3i+3n-2(i=12,--,n—4), cp3=6n—13, ¢, =6n-9;
d1:2, d2:6, di:3i(i:3,4,---,n—2);
e;=3i+3n-3(i=12,--,n—4), e s3z=6n-11, e, =6n—10;

fi=3i+3n—4(i=12--n—4), fr3=6n—12, fyo=6n—S8.
3n—-5 1 5 9 12 ) 3n—4
3n—5 3 4 (8 11 ~e+) 3n-3
3n—5 (3n+1 3n+4 ---) 6n—13 6n—9 3n-—-2
3n—4 2 6 (7 10 ~+-) 3n-3
3n—4 (3n 3n+3 ---) 6n—11 6n—10 3n—2
3n—-3 3n—-1 3n+2 ---) 6n—12 6n—8 3n-—2
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(R AERRYSE—, —, UFIH ST, RIS 1E1E5K)
Al UG RS0 BT 2 6 0 F:

51 = ((371—4)+(3n—5)+(§n+6)+(§n+3)>

- <§n+(gn—3)+5+12>+3?n(gi4)
:Z#—G,
52:(@n—3%+@n—5%%€n+5%+€n+20
—(én—n+w§n—®+4+3)+%kg—®
:Z#—s,
53:(mn—9y+mn—1$)—(@n—8y+én—1n>
+ 25 -2)
:Z#—3
54=(@n—3%+@n—4%+§n+4%+én+1»
—(@n—m+wgn—a+6+2)+%kg—®
:Z#—&,
%:(@n—w)+%n—ﬂy+én—$%%gn—®>
—(Gn=9)+(Grn—12)+ Gn—2)+ (3n— ) + 2 (% —4)
:Z#—ﬁ,
56:(mn—8y+wn—lm+w§n—@+w§n—n>
—(én—my+én—my+@n—m+&m—&)+%Rg—®
=Z#—3,

Bt LS & — 1B B fin 75 B 3n2 /4 — 3 1Y STe,,.
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EH 5.2, B n Z&EH, NFLE STe,.
. BEE n RAT B, STe, 718, HEEMZES 6.
66 = (6n —7)(3n —4) — 2 x JRELFN + 2 x THEG ISR,

R % n Rar 8L, (6n —7)(3n —4) K=y 8, FrlSE8RA T Rar 8, HESATT
RIRE, FIE. FTLVE n K& 8L, STe, AFAE. O

REHE 5.3. STe, fF1E4 HIER n > 4 HRHEEL

. B o =2, RS, WE 16, M/ FRE R BT 25 A HH%. B e
51041 35 STe, /715, Bl n > 4 B A (B% .

o >4 BRARE, REEE—F STe, WUERE TV, BB T I#E
n >4 HAMEE, Al STe, f77E1 , STe, W A2 REH 5.1

N — R =
Iihﬂk(pb-h(ﬁl\)l

16.
HH T2 6 FIEFE, B 0:
6n —7)(6n —8)
2
EH 54, B n >4 BHABEE < gnz — 4,

. 155 6 AR/ B 5, ZAGETERS B IUBOR R FTBER, IR nT ae/), B
€ 1 B RE B AR SRR BV R ERN RS2 E+—FET R,
Pl AT e 22 v) 78 DU 2% S MUK, BR DOE B0 T =K, (HRIRFE W
R Ry TTERE ERVRL | RIEAIES

(6n —7)(6n —8)
2

65 — 2 o BT 4 2 x TE b IR

65 < —2[1424 -+ (B —8)+ (11 + X2+ x5)

+2(v1 + 02 + 03+ 14)
= (9% —28) —2(x1 +x2+ -+ x8) +2(v1 + v + V3 + vy),
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ﬁEF', %?ﬁﬁiﬁztﬁﬁ%%ﬂﬁmf%&%i%ﬁﬂﬁ, BT LR ) BB HERE, 3%
By x1, X0, -+, xg; MR E {01, 00,03, 04} B i FILEWMERS {x1, %2, -+ -,
g} N (i=0,1,234),j 177:%%@5?@%\ (G=0,1,---,0). RE—fHE, £

x1:vl,---,xi:vi,xiﬂ:vl,---,xi+]~:v]~.

6(5<(9n — 28) <ka+20k+ Z xk>+2(’01+02+03—|—v4)

k=1 k=1 k=i+j+1
= (9n* —28) —2 Z xk—220k+2 Z Uk
k= z+]+1 k=i+1

4
< (9n® —28) -2 Z (3n—k+1)—22k+2 Y (6n—12+k)
k=i+j+1 k=1 k=i+1

=92 —6(i — j)n — 2(i% + ij + j* — 12i + 24).

BEE n (ERAICHER, — ICIERO B R B OE, % T 195 65 MU
AN E R, R i — B, >, Bl i— > 0, 8= j, H

60 < 9n? —2(3i> — 12i +24) = 9n> — 6(i —2)> — 24 < 9> — 24.
2 0 < 3n%/2 — 4. O

T 5.5, %0 > 4 HABEE, 5 BT RN [%,an_:ﬁ]

REHH. HoT, HEH 5.1 BRI ZE R 3n°/4 — 3 1Y STe,. HIXREE
STe, IHF—E =AM, xH I E83n — 3% a; > a, > -+ > as,_3,
E[J a1 — asp—3 > 3n —4.

FEEAEY A —as, 3 =3n—4, BI¥ 1 <i<3n—4,0,=i+m
(0 < m < 3n—>5, maBE) BRL, s = A — T E T R
In—E 8 m 1 ST, R B 2= & EAHE], Fr oA = A r 2=

5> n(n+2).

H=HEH a1 —azy—3 > 3n — 3, HEEMZEHEE a3, 3 =101 =k
=AM, B k> 3n — 2. B 6 L =AFHNENZE, B

n(n+2)

0 <
- 4

- 1.
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%ﬁﬁ/l\{fgl\%, B E A n (EEL by > by > --- > by, Hil b; — bi+(n—2)/2 >
(n—2)/2% 2 <i<n/2¥HAL. Frld

6= (b1 —bu) + (b2 — boy(n—2)/2) + (b3 = b3y (n—2)/2) + = + (bpj24(n=2)/2)
n— Z(n — 2)
2 2
HHER W LEA n(n+2)/4—1, TLUEE by — b, < 3n/2—2.
W k3% E, KRB b, = k, FrAs/ N
3 3

3
/ > — (= — > — — (= — — —1-
bn k ( n 2) (37’1 2) ( n 2) n,

> by

i 103 s, SBUNB) = 1, FTBUBCRR o) < Sn — 1. RIS

S HTER: RO AATE, BUBSETJE, L, BE L6 > n(n+2) /4. Bl

STe, HF—ME=AEHI 6 > n(n+2)/4, FTLL STe, H1 6 > n(n +2)/4.
LS5, KRN [n(n+2)/4,3n%/4 - 3]. O

6 FIIRBENT m BIE

FBETE d HOTE %, 54D
ma = I DO s 4 TS b m B
Hom 2fmems, d< D2 2
S 6.1, B n SRE A
H m 25T, dSZ 2—3—5-

. ZGE d i B, JEGETERE B om BOME T HER, RECRFFTEED,
RITE 1 BRaa HE A8 B RS THRS EEETNE E’Jﬁlﬁéﬁﬁ%ﬁ* EITE,
Fr U+ 8 % A8 m A EE I, B m EBH0R T WK, BRI
EaES TTER FAVEL | BRI R H:
mn —m+1)(mn —m)

2
—2[1—1—2—1—---4—(mn—2m)—|—(x1—|—x2—|—-~~—|—xm)}

mdg(

+ (o1 +o2+ -+ Um)

m
:Z(mn2—2m-|—2)—2(x1+x2-|—---+xm)—|—(vl-i—vz-l—---—i—vm).
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Hep, HARETRZ A m MBS EE IR, FrE m [fEEEHE

RE, B x1, X0, <+, Xy T 01, 0o, « -+, Oy RFERTEEG Y m (HEL SRS {0
oomt B i EBERES {x, x2, - , xu} W(@E=0,1,---,m).
RK—BME, & xy =01, -, x; = ;.
m
md < 4(mn —2m+2) — (ka+ Z xk> (01 4+ v+ + o)
k= z+1
:E(mn2—2m+2 -2 Z xk—20k+ Z Uk
4 k=i+1 k=i+1
m, o n u

< —(mn* —2m+2) -2 Z (z-m—k+1)— Zk+ Y (mn—2m+k)
4 k=i+1 =1 k=i+1

2 2
_ M M 5 My
=" 5 2(i 2).
1 DL 440

B om B, RE A R d <mn?/4—m/2;

Eom 2w IREdN LR d <mn*/4—m/2-1/2. O
Esz(modS)Hﬁ,dﬁ%nz—kgn—gm;
Emzil(modS)H%,d<%nz—{—%n—%mi%

EH 6.2, B n ZTEL { Hm = iZ(modS)EH,d<Zn2+%n—§m:|t4,
1
Em—:l:3(mod8)ﬂj°,d<an-l—%n—gm:l:S,
9 1
= mod< P2 My 2 -,
\Em 4 (mod8) i, d < Lo gmt g
B,
md < " (mn® + 2mn — 7m + 4) — (Zzzk+ Z xk> (01 4+ 024+ vp)
4 =1 k= 1+1
:m(mn +2mn —7m+4) — 2 Z xk—ka+ Z Uk
4 k=i+1 k=i+1
§%(mn +2mn — 7m + 4)
m n—1 i m
-2 Y m—k+1)=Y k+ Y (mn—2m+k)
k=i+1 k=1 k=i+1
m? m> 9 5, m . omy,



EEIP G

p 9

B m =0 (mod8), ATHE| d Hy ERWT: d < T+ Zn— oms
e m , m 9 3
= = < o o _ 7 v,
B m = 41 (mod8),d < L Smig,
e m , m 9 1
= = < o o _ 7 .
B m = 42 (mod8),d < e gmF

9 1
Eéé'mzi3(mod8),d§ﬂnz—i—ﬂn——mi—;

4 2 8 8
m , m 9 1
= < = —n-—= -,
m =4 (mod8),d < 4n +2n 8m+2 -

Mg

7  STEm

HEHOBTSRE T - BB~ TEETRRIOE) IR, AL
RBAVE SRR & 4 ~ B, SRR A B R 0 B B A Y A AR
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